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(For the candidates admitted from 2012—-2013 onwards)

B.B.A. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2015.

Fourth mmEm.mnmw
INTRODUCTION TO OPERATIONS w,mmmb_wom —II
Time : Three hours . Maximum : 75 marks
- SECTION A — (10 x 2 = 20 marks)
Answer ALL the questions.
1. What 5 saddle point?
2.  Define “Game Theory”.
3. Whatis A.?mE.bm system?

4.  What are the assumptions of single server queuing
model?

5.  State the two methods of network analysis.

6. What do you mean by PERT?

10.

11.

12.

Under what circumstances replacement can be
done? ‘

What is replacement?
Define the term “Inventory”.
What is inventory control system?

SECTION B — (5 x 5 = 25 marks)
Answer ALL the questions.

(a) Briefly explain about the minimax—maximini
principle.

Or

(b) Solve the game with the pay—off matrix
given below and determine the best
strategies for the companies A and B and
find the value of the game for them.

Company B
28 e D
CompanyA| 1 -5 —4
2 6 -2

(a) Briefly explain about the examples for
queues or long waiting lines.

Or
2 S.No. 1396






13.

(b) Auto car service provides a single channel
‘water wash service. The incoming arrivals

(a)

(b)

Activity a m

1-2
1-3
1

25
2-6
3-6

occurs at the rate of 4 cars per hour and the
mean service rate is 8 cars per hour. Assume
that arrivals follow a poisson distribution
and the service rate follows an exponential
probability distribution.

Determine the

following measures of
performance: i

(1) What is the average time that a car
waits for water—wash to begin?

(1) What is the average time a car spends
in the system?

(i) What is the average number of cars in
the system?

What are the advantages om Network?
Qmﬁﬁowg

Or
A project is.composed of 11 activities whose
time estimates (in days) are given below (a —
optimistic time; b— pessimistic time; m—most
likely time)
b Activity a m b
R U 37 170 10
10 20 60 4-7 40 48 68
5 10 15 5-8 Hed015
50 65 110 6-8 M 2T 5D
30 40 50 78 30 40 50
50 55 90

3 S.No. 1396

14.

15.

(a)

(b)

(@

(b)

Draw the network diagram for the project.
Calculate early and late occurrence times
and slack for each node and hence determine
critical path.

Briefly explain the
replacement problems.

Or

various types of

The cost per year of running a truck whose

purchase price is Rs. 30,000 are as follows. -
Determine when is the replacement due:

Year Running cost Resale value

(Rs.) (Rs.)

I3 5,000 15,000

2 6,000 7,500

3 7,000 3,750

4 9,000 1,875

5 11,500 1,000

6 14,000 1,000

7 17,000 1,000

Explain the need for Inventory control.

Or

Calculate (i) Re—order level (ii) minimum
level and (i) maximum level for each
component A and B from the following
information: ;

4 S.No. 1396
[P.T.0]



Normal usage 50 units per week each - 19.

Minimum usage 25 units per week each
Maximum usage 75 units per week each
Re—order quantity A-300 units
B-500 units
Re—order period A4 to 6 weeks
B-2 to 4 weeks.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

16. Solve the game whose payoff matrix is given by

Player B
B: B: Bs
PlayerA A; (1 2 1 a0
A2 |0 4 -1 -

Az |1 3 -2

17. Describe the characteristics of queuing system.

18. Explain the PERT/CPM Network components with
illustrations. _
5 S.No. 1396

A truck owner finds from his past records that the
maintenance costs per year of a truck whose
purchase price is Rs. 8,000 are as given below:
Year Maintenance Resale
‘Cost (Rs.)  price (Rs.)

1 1,000 4,000
2 1,300 2,000
3 1,700 1,200
4 2,200 600
5 2,900 500
6 3,800 400
7 4,800 400
8 6,000 400

Determine at which time it is profitable to
- replace the truck.

A Trading company expects to sell 15,000 mixers
during the coming year. The cost per mixer is Rs.
200. The cost of storing a mixer for one year is
Rs.5 and the ordering cost is Rs. 540 per order.
Find and EOQ would it be profitable to the
company to accept a discount offer of 30% on a
single order per year. The storing cost continuing
to be Rs. 5 per mixer per year.

6 S.No. 1396
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(For the candidates admitted from 2012-2013 onwards)

B.B.A DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2015.

Fourth Semester
MANAGEMENT ACCOUNTING
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 =20 marks)
Answer ALL questions.

1. State any two objectives of °~management
accounting.

2. What do you understand by Emﬁmmmambn
: mnnosugmo

3. What is flow of funds? °

A.gmbaob.mbwﬁﬁo mBQ.mﬁoﬁmom?bmmmcS
analysis. :

5. Define dmmr. Flow Statement’. -

6. What is ‘Cash From Operations’?

7.  Define the term ‘Ratio’.
8.  What is the significance of Current Ratio?

©

What is budgeting?

10. What is master budget?

11. (a)

®)
12. (a)

®)
Liabilities
Share n.mE.E
Debentures
Tax payable

SECTION B — (5 x 5 = 25 marks)
Answer ALL the questions.
What are the characteristics of management
accounting?
, Or

me.mu.muwumnm management accounting m.cE
financial mooo:baﬁm
Bring oE.. _Urm m&qmﬁemmmm of funds Eoé
analysis.

v Or

Prepare a statement of changes in ﬂouwwnm_
capital from the following details of wmaﬁ
Lid.

. 31:1204 31.12.05 Assets 31.12.04 31.12.05
Rs. Rs. : Rs. Rs.
5,00,000 500,000Fixed Assets  6,00,000 7,00,000
3,70,000 4,50,000Long term 2,00,000 1,00,000
investment

717,000 43,0060Work in process 80,000 90,000

-2 S.No. 1397



19,

20.

(¢) Income tax provided during the year
Rs. 33,000.

(f) Loss on sale of Em&bme Rs. 200 was
written off to Reserve.

You are required to meumHm the Cash Flow
Statement.

From the following particulars, vamﬁﬁ.m a Balance
sheet.
(a) Working Capital Rs.75, 000
(b) Reserves and Surplus Rs. 1,00,000
(c) Bank overdraft Rs. 60,000
(d) Current Ratio 1.75
(e) Quick Ratio 1.15
(f) Fixed Assets to Proprietor's Fund 0.75
(g) There is no long term liabilities.
From the following data, forecast the cash at the
end of April, May and June 2008.
Month Sales Purchase Wages Sundry.
Expenses
Rs. Rs. Rs. Rs. .
February 1,20,000 80,000 10,000 7000
March 1,30,000 98,000 12,000 9000
April 70,000 1,00,000 8000 5000
May 1,16,000 1,03,000 10,000 10,000
June 85,000 80,000 8000 6000

7 S.No. 1397

Further information:

(a)

(b)
(0

(d
(e)
®
(®

)

Sales at 10% realised in the month of sale.
Balance realised maﬁ&% In two subsequent
months.

Purchases : Creditors are paid in the month
following the month of purchase.

Wages : 20% paid in arrears in the following
month.

Sundry expenses paid in the month itself.
Income Tax Rs. 20,000 payable in June.
Dividend Rs. 12,000 payable in June.

Income from investments Rs. 2000 received
half-yearly in March and September.

Cash balance on hand as on 1.4.2008
Rs. 40,000

8= ~ S.No. 1397



Creditors 96,000 1,92,000Stock 1,50,000 2,25,000
Dividend payable 87,000  80,000Debtors " 70,000 1,40,000
. Cash ; 30,000 10,000

11,30,000 12,65,000

11,30,000 12,65,000
13. (a) Briefly explain the limitations of Cash m__oﬂ
Analysis.

Or

(b) Compute cash from operations from the
following figures. Profit for the year 2006 is
a sum of Rs. 10,000 after providing for
depreciation of Rs. 2000. :

: 2005 (Rs.) 2006 (Rs.)
Sundry debtors 10,000 11,000
Provision for doubtful debts 1,000 1,200
Bills Receivable 4,000 3,000
Bills payable 5,000 6,000
Sundry creditors 8,000 9,000
Inventories 5,000 8,000
Short-term investment 10,000 12,000
14. (a) State the limitations of Ratio Analysis.
Or )
(b) Calculate the amount of Current Assets and
Current Liabilities.
Current Ratio 2.5 *
Working Capital Rs. 60,000
3 1 S.No. 1397

15.

(a)

()

Draw  material procurement  budget -
quantitatives from the following information:

Estimated sales of a product 40,000 units.
Each unit of the product requires 3 units of
material A and 5 units of material B.

Estimated opening v&muom at the vmmEuE-m

- of the next year
Finished Product 5000 units
Material A 12000 units
Material B 20000 units
Material on order: .
Material A 7000 units
Material B 11000 units

The desirable closing balances at the end of
the next year:

Finished product 7000 units
Material A 15000 units
Material B 25000 units
Material on order:
Material A 8000 units
Material B 10000 units

Or _
What are the types of _m:boﬂobm_ budgets?

4 S.No. 1397
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SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

16. Discuss the scope of management accounting.

17. From the following balances sheets of Aravind

Ltd.,

prepare a statement of changes in working

capital and funds flow statement.

Liabilities

Share capital 1,00,000

Reserve
PandL Ale
Bank loan
Creditors

Provision for
Taxation

Balance sheets
2005 2006 Assets 2005 2006
Rs. Rs. Rs.  Rs.
1,25,000 Land 1,00,000 95,000
25,000 30,000 Machinery 75,000 84,500

15,250 15,300 -Stock 50,000 37,500
35,000 ~  Debtors 40,000 32,000
75000 67,500 - Cash 250 300
15,000 17,500 Bank = 4000

Goodwill - 2000

2,65,250 2,55,300 2,656,250 2,565,300

Additional information:

@ Dividend for Rs. 11,000 was paid
during 2006.

(b) Depreciation on machinery written off
in the year 2006 was Rs. 7000.

(c) A provision for income tax Rs. 16500 was
made during the year.

5 S.No. 1397

18. The following are the Balance sheet of BR Co. Ltd.
‘as on 31.12.2005 and 31.12.2006.

‘Balance sheets ,
Liabilities 2005 2006  Assets 2005 2006
Rs, Rs. Rs. Rs.
Share 2,00,000 2,50,000 Land and  2,00,000 1,90,000
capital Building
Reserve 50,000 60,000 Machinery 1,50,000 1,69,000
P&LA 30,500 30,600 Stock 1,00,000 74,000
Mortgage 70,000 — Sundry 80,000 64200
loan (long Debtors
term) }
Creditors 1,50,000 H.wm,.woo Cash 500 600
Provision 30,000 35,000 Bank - 8000
for taxation ‘
Goodwill - 5000
m.mo.m.oo 5,10,800 5,830,500  5,10,800
Additional Information:
(a) Dividend was paid Rs. 23,000
(b) Assets of another company were purchased
for a consideration of Rs. 50,000, payable in
shares. .
The following assets were purchased:
Stock Rs. 20,000; Machinery Rs .25,000
(¢) Machinery was further purchased for
Rs. 8000.
(d) - Depreciation written off of machinery

Rs. 12,000.
6 ' S.No. 1397
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(For the candidates admitted from 2008—2009 onwards)

‘B.B.A. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2015.

Fourth Semester
INTRODUCTION TO OPERATIONS RESEARCH —II
Time : Three hours Maximum : 75 w:miﬁ

PART A — (10 x 2 = 20 marks)
_>dm€mn ALL asmmﬁos.m.
Answer to each question shall not exceed 6 lines.

1. _ What is game in game theory?
) | Define gamepure strategy.
3.  What do you understand by queue discipline?
4.  What do you mean by traffic intensity?
5. éwﬂ is a network? -

6. What is a dangling in a network?

7 What is replacement?

10.

What are the categories into which the
replacement of items are classified?

Define buffer stock.

Define time horizon.

PART B — (5 x 5 = 25 marks)
Answer ALL questions.

Answer to each question shall not exceed 3 pages.

11. (a) What are the assumptions made in the

12.

(b)

(a)

(b)

theory of games?
Or
Solve the game whose payoff matrix is given
below :
OV AR
3 2 1 2 2
-4 -3 0 -2 6
5 3 -4 2 -6

Explain the operational characteristics of the
‘Queuing System’.

Or
In a railway marshalling yard, goods trains
arrive at a rate of 30 trains per day.

Assuming that the inter-arrival time follows
an exponential distribution and the service

2 S.No. 1361



17.

18.

A self-service store employees one cashier at its
counter. Nine customers arrive on an average
every 5 minutes while cashier can serve 10
customers in 5 minutes. Assuming Poisson
distribution for arrival rate and mxﬁo:msﬂa
distribution for service rate find

(a) Average number of customers in the system

(b) Average number of customers in queue or
average queue length

(¢) Average time a customer spends in the
system

(d) Average time a nzmﬁoEmH waits before being
mmﬁém&

The following table shows the jobs of a network

along with their time estimate. The time estimates

are in days.
Job Optimistic Most likely HummmHBHmEc

1-2 3 6 15
1-6 2 5 14
2-3 ‘6 120 30
2-4 2 5 8
3-5 5 11 17
4-5 i 6 15
5-8 1 4 7
6-7 3 9 e
7.8 4 19 28
pdatle S.No. 1361

19.

Year
Machine A (Rs.) :
Machine B (Rs.) :

20.

-

(a) Draw the project network.
(b) Find the critical path.

(¢) Find the Eovmw%@ that -the E.oh_onw is
completed in 31 days.

Let the value of money be assumed to be 10% per
year and suppose that machine ‘A’ is replaced
after every three years where as machine ‘B’ is
replaced every six years. The yearly costs of both
the machines are given below :

1 9B 47 B o6
1,000 200 400 1,000 200 400
1,700 100 200 300 400 500

Determine which machine should be purchased.

Find the optimum order quantity for a product for
which the price breaks are as follows :

Quantity Unit cost (Rs.)
0<gq <100  Rs. 20/unit
100 < g, < 200 Wm..wm\cb#
200 < g4 Rs. 16/unit

The monthly demand for the product is 400 units.
The storage cost is 20% of the unit cost of the
product and the cost of ordering is Rs. 25.

8 _ 8.No. 1361



13.

(a)

(b)

time (the time taken to Jump a train)
distribution is also exponential with an
average of 36 minutes. Calculate

1) Expected queue size (line length)

(i1) Probability that the queue size exceeds
10.

Explain the rules of network construction.

Or

A project schedule has the
characteristics.

Activity Time (days)
1-2 4

1-3 1

2-4 1

3-4 1

3-5 6

4-9 b

5-6 4

8

1

Z

5

i

following

5-T7

6-8

7-8
8-10
9-10

3 S.No. 1361

14.

Year of
service

St s W N

From the
required to

above informationr, you are

(i) Construct a network diagram.

(iiY Compute the earliest event time and
latest time. .

Fleet cars have increased their cost as they
continue in service due to increased direct
operating cost (gas and oil) and increased
maintenance (repairs, tyres, batteries, etc).
The initial cost is Rs. 3,800 and the trade-in
value drops as time passes until it reaches a
constant value of Rs. 600. Given the cost of
operating, maintaining and the trade-
invalue, determine the proper length of
service before ears should be replaced.
Annual Annual
operating  maintenance

cost (Rs.) cost (Rs.)

2,000 1,600 400

1,200 1,900 . 500
800 2,200 700
700 2,500 900
600 2,800 1,100

Year end
trade in
value (Rs.)

Or

4 S.No. 1361
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15.

(b)

(a)

(b)

The cost pattern for two machines ‘A’ and ‘B,
when more value-is not considered is given in
the table below :

Year Cost at the beginning of %.mmﬁ.

Machine A Machine B
1 900 1400
2 600 100
3 700 700

Find the cost pattern for each machine when
money is worth 10% per year, and hence find
which machine is less costly.

What are the reasons for maintaining
inventories? 4

Or

A stockist has to supply 400 units of a
E.om;ow every Monday to his customers. He
gets the product at Rs. 50 per unit from the
manufacturer. The cost of ordering and
transportation from the manufacturer is
Rs. 75 per order. The cost of carrying
inventory is 7.5% per year of the cost of the
product. Find

(i) The economic lot size

(i) The total optimal cost oao?@:um ﬁro
capital cost).

5 S.No. 1361

PART C — (3 X 10 = 30 marks)

Answer any THREE questions.

All questions carry equal marks.

16. Assume that two firms are competing for market
share for a @mﬂ.ﬁnims product. Each firm is
congidering what promotional strategy to nBEo%
for the coming period.

Assume that the following pay off matrix describes
the increase in market share of firm ‘A’ and the
decrease in market share of firm ‘B’. Determine
the optimal strategies for each firm.

Firm A

(a)

(b)

Firm B
No! Moderate Much
promotion promotion promotion

No : 5 0 ~10
promotion
Moderate 10 6 - 2
promotion .
Much 20 15 10
promotion

Which firm would be winner, in terms of
market share?

Would the strategies necessarily maximize
profits for either of the firms?

6 A S.No. 1361
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B.B.A/B.B.A. [CA] DEGREE EXAMINATION,
: NOVEMBER/DECEMBER 2015.

Fourth Semester

EZKWQ@%@ZH ACCOUNTING

Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL the questions.

1.  Define the term “Management Accounting”.
2. What is Financial Accounting?
3. What are Fixed Assets?
4.  Working capital — Brief out the term.
5. What do you mean by the term “fund”?
6. Write two advantages of Coshiflos _mnmggmsn.

7 What is Ratio?

8. How do you calculate G/P. Ratio?

9. Define — Budget.
10. What is sales budget?
SECTION B — (5 x 5 = 25 marks)
Answer ALL the questions.

11. (a) Describe the various objectives of
management accounting.

Or

-

(b)  Distinguish management accounting from
financial accounting.

12. (8) Draft a specimen report form of cash flow
statement.

Or

(b) From the following balance sheets, calculate
funds from operation.

" Liabilities 1979 1980 .Assets 1979 1980
Share capital 10,000 15,000 Buildings 10,000 9,500

Reserve 3,000 3,000 Plant 8,000 9,000
P & L Alc 12,000 2,200 Stock 7,000 12,000
6% - 8,000 8,000 Investments — 1,000
Debentures

Creditors 6,500 5,800 Goodwill 2,000 1,000
Provisionfor 500 1,000 Debtors 3,000 2,500
tax :

30,000.35,000 30,000 35,000

2 S.No. 1362




19.

Discount on share written off 10,000
Outstanding Exp: 31.12.83 25,000
Accrued income 31.12.83 8,000
Income Received in Advance 5,000
1.1.83
Profit on sale of Emoanow% 2,000
Loss on sale of furniture 1,000
Income on Investment 4,000
Depreciation Provided 50,000
Calculate
(a) G/p Ratio and
(b) Net profit Ratio and
(c) _ Operating Ratio.
Rs.
Opening stock 20,000
Net sales 1,00,000
Purchases 60,000
Closing stock 5,000
Selling expenses 3,000
Administrative expense 2,000
7 S.No. 1362

20.

ABC company wishes to arrange over draft
facilities during the period April to June 1967.
Prepare a cash budget for the above period from

the following data.

(a)
~Month and year  Sales
1967 " Rs.
February 1,80,000
March '1,92,000
April H,.om.ooo
May 1,74,000
June 1,26,000

Purchases
Rs.

1,24,800
1,44,000
2,43,000
2,46,000
2,68,000

Wages
Rs.

12,000
14,000
11,000
10,000
15,000

(b) 50% of the E.m&w sales are realised in the
month following the sales and the remaining
50% in the second month following.

(¢) Creditors are paid in the month H..ozos,Ew the

month of Uﬁ.nrmmm

(d) Cash at bank on 1-4-67 was Rs. 25,000.

S.No. 1362



13. (a)

Liabilities
Bills
payable
Notes
payable

Other

current
liabilities
Bonds 6%

Common
stock

P&L A/

Addl. information:

(i) During the year dividends Rs. 1,500
were paid . 5

(if) Depreciation written off plant Rs. 600
(iii) Profit on sale of plant Rs. 200.

The Balance sheet of Kanu and Co. Ltd at
the end 1983 and 1984 are given below.

1983 1984 Assets 1983 1984
20,000 25,000cash 20,000 10,000
20,000  5,000Marketable 10,000 i
securities :
10,000 15,000Inventory 60,000 1,00,000
— 30,000Bills 30,000 40,000
Receivable
50,000 50,000Gross Block 60,000 85,000
)
depreciation
80,000 1,10,000(40,000 &
55,000)

- 1,80,000 2,35,000

1,80,000 2,35,000

T.mvmwwmmﬁmﬁmamwﬁomnrm:mmmg éoﬁﬁmm
capital. 5

Or
3 S.No. 1362

»

To
To

To

To

To

To

To
To

14.

(b) From the following P & L A/c, compute cash
from operation.

P & L a/e for the year ended 31-12-73.
Salaries 5,000 By G/P 25,000
Rent 1,000 By profit on 5,000

sale of land
Depreciation 2,000 By Income tax 3,000
refund
Loss on sale of 1,000 .
plant
Goodwill 4,000
written off
Proposed 5,000
Dividend
Provision for tax -~ 5,000
N/P 10,000
33,000 *33,000
(a) Write down the formulae for return on total

(b)

assets.
Or

Raj and company, sells goods both cash and
credit basis. From the following information

“calculate Debtors Turnover Ratio.

4 S.No. 1362
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Rs. Rs.

Total sales 10,000 Total debtors 900
Sales returns 700 Bills Receivable 200
Cash sales included in 2,000 Provision for 100
total sales doubtful debts

15. (a) What are the objectives of Budgetory

16.

1678

control?
7 OH.

(b) Prepare a flexible budget from the following;

for the production at 80% and 100% capacity

production at 50% capacity is — 5000 units.
Raw materials — Rs. 80 per unit, Direct
labour— Rs. 50 per unit. Factory expenses
Rs. 50,000 (50% fixed): Administrative
expenses Rs. 60,000 (60% variable).

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Discuss the mBﬁoimb#m“ merits and demerits of
Management Accounting.

(a) The following is ‘?m comparative balance
sheet of A Ltd. Prepare a funds flow
statement: ’

5 S.No. 1362

Liabilities

Balance sheet
1976 1977 Assets

Deec. Dec.
Rs. Rs.

Share capital 8,000 8,500 Land

P &L Ak
(appropr)
Creditors

Mortgage
loan

(b)

1,450 2,450 Plant

900 500 Debtors
- 500 Stock

Cash at
bank

10,350 11,950

1976 1977

Dec. Dec.

Rs. Rs. _
5,000 5,000
2,400 3,400
1,650 rwmo
900 700
400 900

10,350 11,950

What are the uses of fund flow statement?

18. From the following information, calculate cash
inflows from trading operations.

P&L
Ale

1-1-83

31-12-83

Transfer to Reserve
Dividend paid
Hb.noBm tax provision

6

Rs.

5,50,000
8,00,000
50,000
2,00,000
1,50,000
S.No. 1362
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B.B.A. (CA) DEGREE EXAMINATION,
. NOVEMBER/DECEMBER 2015.

Fourth Semester
INTERNET AND WEB DESIGN
Time : Three hours - Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
1.  Define the term “Internet”.

2.  What are the two major protocols for accessing
email from servers?

3. How to @H.mﬁms,.m webpage in Ewmnﬁmﬁ explorer?
4,  Define : Padding.

5. How to use a graphic as a hyperlink?

6. What is an animation? |

7.  Write a syntax for height of a table.
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S.No. 1382

12 UECA 13

(For the candidates ,mmB#Sm from 2012-2013 onwards)

B.B.A. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2015.

Fourth Semester

MONEY, BANKING AND QHOW.PF BUSINESS

Time : Three hours

Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

1. Ummbm “Branch banking”.
2.  What is bankers bank?

3.  What is credit card?

4. Whatis ‘ATM?

5.  Define the term ‘Deflation’.

6. What is mean by “Trade cycle”?

Answer ALL questions.

7.  What do you understand by Indian money market?
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18.

19.

20.

Describe the phases of trade eycle with diagram.

Define money market and explain the
characteristics of a development money market
and its importance.

Discuss the basic principles, objectives and defects
of GATT.

4 S.No. 1381

S.No. 1381 08 UECA 12

(For the candidates admitted from 2008 — 2009 owémam.o

B.B.A. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2015.

Fourth mmgmmﬁwﬂ.

MONEY, BANKING AND GLOBAL BUSINESS
Time : Three hours | Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer ALL questions.

Answer to each question should not exceed 6 lines.

1. Give the meaning and structure of branch
banking.

2. What are the ways of raising bank deposits by
commercial banks?

3.  State the meaning for the term monetary policy.

4. How does open market operations help in
controlling credit?



I8ET 'ON'S 5

‘sreak JUaD9d
9] Ul SWI0jod SuryuRqg-f JUSISHIP dY) 9)eN[BAY

B EPLL JO
JuRE SAI9S9)] JO SUOIIOUN] [BUOTIIPRA) oY) UTRdXg]

‘soded g po9oxe jou [[eys uornsanb yors 0) I9MSUY

‘suorsanb HVH] AUe 198Uy
(sTBW O = 0T X £) — O LAVd
*A9UQIIND OING] UO AJOU JOLIG B 9JTIA
,HO

Tejided usredof jo souejiodul oY) JNo JUI0g

oy ejrden

pue jeojyiew Aeuowr U9aMIeq YSNSUTISL(]
10

193 JB Ul ABUOUL UOPUO| pUB
josIew A9UOW URTPUJ ISBIJU0O pue aieduwo))

"UOTIBIIUL JO sodA]
Jueasyyrp ayj) jno jurod pue UOTIRJUL SULJS(]

10

“UOIIR[JOP 07 9NGLEUoDd
Jel] SI0)0R] BY) 9AI3 pUB UONB[EP ouga(]

(@

(€)

(@

(®)

Q)

(®)

LT

191

e

7L

el

o

I8€T 'ON'S
'SUOTOUNJ ST N0 IS8T (BULYURG-D STIBYM (P
10

‘duuruTy
Jo sadA) jualejjIp YY) U0 2j0U JOuIq B LI\ (B)

"SYULB( [BIDISW WO JO SAOTAIIS \Sﬁﬁz
[erousd pur sadtades Lousde oyy ureldxy  (q)

i,

"BTPUJ UL Sutyueq Jo SO,ﬂEgo oy} eoed], (®)
‘soded ¢ paesxe jou [[eys uonsenb yora 0} FoMEUY
‘suonisanb Ty Iomsuy
(S1eW ¢g = ¢ % §) — g LUVd
.Eﬁ%m.o nmwmiow Jo mﬁﬁow 1UBILIIIP 97} UOTFUSIA]
| “LLVE U0 830U 440YS B 9ITIM

Juoneur ysnd — 3500 E 1Y M

"o IBW
Aouow UEIPU] Ul POpBI} SJUIWNIISUT By} 18T

(S9OTAIRS BuBUERq-9 JO sad4) JUaIayIp ) 948 JBYM

: e peaclely
9} 0} SPIBO JIPAID JO S08BIUBAPE JAT] AUB IN0 JUIO]

al

1T

01



S.No. 1419 | 12 UBAS 04

(For the candidates admitted from 2012 — 2013 onwards)

' B.B.A DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2015.

Fourth Semester

PRACTICE OF PUBLIC RELATION

Time : Three hours | Maximum : 75 marks ,
,HWPWH A— (10 x2=20 marks)
Answer FVH.H_ questions.

1. What do you zﬁmmwmﬁmsm by public relations?
9. Write any two importance of public relations.
3.  Define Press Relations.
. 4, What do you ssﬂwmwmﬁmsm by editorial reviews?
5.  What do you E,&mwm.ﬂmSQ by training?

6l Write any two importance of training to the public
relations officer.
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19. Explain the following : - S.No. 1387
(@ IIMCand
(b) Indian Press.

08 UBAS 04/
08 UBXS 04

(For the candidates admitted from 20082009 onwards)

20. © Degeribe theffollowine: =/ Sy B.B.A/BBA. (C.A) DEGREE EXAMINATION,
(a) Features of music festival and NOVEMBER/DECEMBER 2015.

(b) Types of communication. : Fourth Semester -

PRACTICE OF PUBLIC RELATIONS

Time : Three hours : ‘Maximum : 75 marks
SECTION A — (10 x 2 = 20 Bmiﬂ@.
mws,mémw ALL Qsmmﬁobm_.
1. Define — :Huﬂ.@.ﬁo Relations”.

-

2. Public Relations for commercial organisation —

Write a brief'note.
3.  Write two mﬁ_ﬁmm of public relation officers. -
4. Define the term communication.
B Who is public information officer?

.

4 S.No. 1387
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16.

17,

18.

19.

20.

PART C — (3 x 10 = 30 marks) -
Answer any THREE questions.

Explain in detail the features of human resource
management.

wafls euer Clommremaioullen senawsamar edleuf].
Describe the advantages of human resource
planning.

wefls opnme S 10Hsedlar HemennEeT Wimene?

What is selection? Differentiate selection from

recruitment.

ConpElsBisse aeamra aarar? GaibbshssaisE!b
<pGElemBLILSELD o eter CoumiLImBIGET WiTene?

HExplain the various reasons for accruing stress.
LDGIT B (LPSHID QU (HEUSDHTET HIJemThiEaeT eileuildamaLb.
Describe in detail the wvarious process of
performance appraisal.

Qawerdlmer NSl HEeleT Lilg (penmser wWmene?

4 S.No. 1384

S.No. 1384 08 UBAN 02/

08 UBXN 02
(For the candidates admitted from 2008—2009 onwards)

U.G. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2015.

Fourth Semester

HUMAN RESOURCE MANAGEMENT

Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)"
Answer ALL questions.
1.  Define — ‘HRM'.
waflsaler GLoeTarTento — Guanyuwim).
2 Write any two funetions of HRM. -
wailsaler Goararewudar G Laflsmer erips.
3.  Whatis HRP? ) .
&g Hme S L L8HSE crammime eretmer?
4.  Write any two Umbmmﬁ,m of HRP.
E@m_..mu < ppe S f@sdlar @ran(  Lwenseaer
GT(LPSI5.
5.  What is recruitment?

2 OlaTRILIL] 6T mTED GTemen?
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18.

19.

20.

Narrate in detail the customs clearance for
imported goods.

Explain the various procedures to be followed by
the exporter of the goods.

What is Bill of Lading and state its contents?

4 S.No. 1388

S.No. 1388 08 UBAS 05/
08 UBXS 05

(For the candidates admitted from 20082009 onwards)

B.B.A/B.B.A. (C.A) DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2015.

Fourth Semester

EXPORT —~ IMPORT DOCUMENTATION
PROCEDURES

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer ALL guestions.

1.  Define the term export.

2. What is “Documentation”?

3. “Commercial Invoice for exports” — Write a brief
note.

4.  What is foreign exchange?
5. Define “Bill of Exchange”.

6.  “Bill of Entry” — Brief out the term.
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15.

16.

17

18.

19.

20.

(a) Briefly discuss the various methods of S.No. 1416 12 UBAN 02/
performance appraisal. . , : : 12 UBAA 09

Lanfl ST g 6 L Celn) U ES®ET ar(pE).
Oxr
(b) Explain the importance of training to
employees and employers.
LG pHuiefissaiar ipsdiussiosms erpsis.

(For the candidates admitted from 20122013 onwards)

U.G. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2015.
PART C — (3% 10 = 30 marks)

y Fourth Semeste
Answer any THREE questions. , :

* Discuss. the need and limitations of human _ HUMAN wmwOGWOmm MANAGEMENT

resource management. Ty Threok Moaxi o5 k
: . me : Three hours : 75 ma
aflseuet GioemeamenLoudlen auenylenDSHEET 6T(LpSIS. b e

/

Outline the steps involved in the human resource _ PART A — (10 x 2 = 20 marks)

planning process. , Answer ALL questions.
weilgeier S 1l Hizadlen Lig HlanasHamen eT(Lpsis.
1.  Define HRM.

1SCULE 10U recruitment. A
Discuss various sources of recru e Em%mm:mq N e T,

<parCarlilblen LieGeaum) euldlEener 6T(Lpg)s.

" What is an interview? What purpose does it serve? 2, Write any two scope of HRM. .
Discuss various types of interviews. eafgeuer Glosmemraniouflen Eemm(h 6T EEET CTEHS-
Coiipas Coimey ereammme creman? erenan CHTEEESE DETS .

Qeuwiu@dng?  Coraps  Gsrefler  LwGeaim 3. Define HRP.
QUGS T GT(LPE. wafigauear L 10 HS0 eleyLm).
Explain briefly the general methods of training of 4.  What do you understand by manpower plan?

personnel.

weflgeuer S b Lpdl § oifleus) eremen?
LulpAwieflssailer LaGeam euamasamen ellaufl. 5 =

5.  What is application blank?
G(LPSLILIL_ 18 GHlGRTEMTLILILD 6TEIMmTE 6Tehe! ?

AT S.No. 1416
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S.No. 1428 1 08 UBX 08

* (For the candidates admitted from 2008-2009 onwards)

B.B.A. (CA) DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2015.

Fourth Semester
PRODUCTION AND MATERIALS MANAGEMENT
Time : Three hours =~ Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
1.  Define Plant Layout.
2.  What do you understand by Reengineering?
8.  Define production.
4.  Define Integrated Materials Management.
5.  What is Maintenance?
6. Whatis EOQ?
7.  Explain materials Emwmwbm.

8.  Define inventory.
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S.No. 1420 12 UBAS 05

(For the candidates admitted from 2012—-2013 onwards)

B.B.A. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2015.

Fourth Semester

EXPORT-IMPORT DOCUMENTATION AND
PROCEDURES |

Time : Three hours . Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
>bm¢m..mw ALL questions.
1. Define trade document.
2. Define export management.
3.  What is proforma invoice?
4. What do you mean by wmmEmnoQ document?
5. What is GR-I form?
6.  What do you understand by letter of credit?

7.  What do you understand by containerization?
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16.

17.

18.

19

20.

PART C— (3 x 10 = 30 Smdwmu

Answer any THREE questions.
Mention the agency services of a banker.
e eumdlwilar epaeu Lisnllaemers @HILIA G .

What precautions are to be taken by a banker
while openning of a/c.

seEGEmaS QST_BEGSDE wpar auRSLT (s

Gerleiria Lt (et eTéFTISenS&H6T WiTen6?

How a cheque differs from promissory note?

am s1CsTm®, s 2 mg UsErsSe QHHsI el Tl
CoumiuH&ima)?

Describe the types of crossings.
%E%@m&_% cuassamer allaifl.

Write about alteration of chegues.

anGareauilen S asmiaamartt LHH er(LHg!s.

4 S.No. 1097

S.No. 1097 A 12 UBMN 02

(For the candidates admitted from 20122013 onwards)

U.G. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2015.

Fourth Semester
BANKING PRACTICE
Time : Three hours Maximum : 76 marks
PART A — (10 x 2 = 20 marks)
Answer ALL questions.

1. Define Bank.
auitlSluSlenen auenLIm).
2. Whois a customer?
GUITIG FHan SHULITEIT T GTETLIEU T WLITTTT?
3. Expand FDR.
FDR g fflejliv@ssis.

4. BExpand SB A/C.
SB A/C g eflifleund .
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S.No. 1372 08 UBAA 05

(For the candidates admitted from 2008 — 2009 onwards)

B.B.A. (C.A) DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2015,

Fourth Semester
~ ELEMENTS Oﬁ. BUSINESS LAW
Time : Three hours * Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
.>sm$mw ALL questions.

1.  What is meant by voidable contract?

2.  What do you mean by capacity to contract?
3. By whom must contracts be performed?

4.  What is meant by ordinary damages?

5. Mention any two duties of bailee.

6. What is meant by general lien?

7. Give two examples of documents of title to goods.
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19. Briefly state the provisions of the companies Act,
1956, regarding the mode of appointment of the

20.

directors of company.

At what movement does a winding up by the court
commerce? What are the consequences of a

winding up order?

S.No. 1398

S.No. 1398 12 UBA 09

(For the candidates admitted from 2012-2013 onwards)

B.B.A. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2015.

Fourth Semester
COMPANY LAW
Time : Three hours ~ Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer ALL questions.

1. Whatisa E_.Zmnm company?

2.  What is statutory company?

3. Who is a promoter?

4.  What is a memorandum of association?
5.  Define Prospectus’.

6. What do you understand by dividend?

7.  Write any two qualifications of a director.
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18.

9.

20.

Explain in detail the duties and liabilities of the
directors.

Discuss the moz.oism :

(a) Persons eligible to file petition for winding
up of a company.

(b) Various duties of the liquidator.

(¢) Statement of affairs.

Describe in detail the differences between —

(a) Preference and Equity Shares

(b) Shares and Debentures.

4 S.No. 1363

S.No. 1363 08 UBA 09

(For the candidates admitted from 2008 — 2009 onwards)

B.B.A. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2015.

Fourth Semester
BUSINESS LAW - II
Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer ALL questions.

1. Define the term ‘Company’.

2. What is Government Company?

3. Write a brief note on the term “Certificate of
Incorporation”.

4, What is Memorandum of ,Pmmoﬁm._uo:_.v
5. . Define — Prospectus.

6.  What is meant by the term shares?
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